attaching hardware

Wheel Lock - Recliner




Wheel Lock - Recliner

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly

1 04512X113-NLA | NLA - Bracket, Mounting, Chrome - Right 1 1
1 04512X114-NLA | NLA - Bracket, Mounting, Chrome - Left 1 1
2 7930367-NLA | NLA - Locknut (1/4-28) 25 4
3 40157X004 Spacer, Nylon (1/4 x 7/16 x 1/8") 1 2
4 7930357-NLA | NLA - Washer, Nylon (1/4 x 1/2 x 1/32") 25 6
5 60274X012-NLA | NLA - Screw, Hex Head (1/4-28 x 3/4") 1 4
6 47559X025-NLA | NLA - Link, Chrome - Right 1 1
6 47559X026-NLA | NLA - Link, Chrome - Left 1 1
7 1015443-NLA | NLA - Shoe 1 1
8 1023296-NLA | NLA - Handle, Wheel Lock, Chrome 1 1
9 47376X024 Tip, Rubber Wheel Lock Handle, Black 1 1
10 1107321 Nut, Low Cap (5/16"-24) 1 1
11 11232X009 | Bolt, Lug (5/16-24 x 1-3/8") 1 1
12 A 1021068 Wheel Lock Assembly w/o Hardware, Black - Right 1 1
12 A 1021069 Wheel Lock Assembly w/o Hardware, Black - Left 1 1

NOTE: A - Pull to Lock (shown), Includes Items 1-9. Chrome is No Longer Available. Order right and left side

n Black to match.




